

CHANGE ORDER FORM FORT BEND COUNTY ENGINEERING

Distribution:	Address:	301 Jackson Street Richmond, Texas			
☑ FBC Engineering	Phone:	77469 281-633-7500			
☑ FBC Judge	Web site:	www.FortBendCountyTx.gov			
☑ FBC Purchasing	Web Site.	www.i ortbendooditty ix.gov			
☑ Contractor					
☑ Consultant					
DDO IFOT.					
PROJECT:	CHANGE ORDER NUMBER 1				
Aliana Pavement Rehab (20321x)	DATE 01/07/2025				
CONTRACTOR:	PROJECT NUM	MBER 20321x			
DVL Enterprises, LLC	BID NUMBER 23-038				
1525 Lakeville Dr.	ATE 04/25/2023				
The contract is changed as follows:	FBC PURCHAS	SE ORDER NO 226916			
Balance all Bid Item Quantities to Installed Quantities & Add Pavement Markings					
Not valid until signed by Fort Bend County.					
	The Ori	ginal (Contract Sum) \$ 742,305.00			
Net change by previously authorized Change Orders \$ 0.00					
The (Contract Sum) Prior to this Change Order was \$ 742,305.00					
The (Contract Sum) will be ☐ increased or ☐	☑ decreased or	□ unchanged by			
	this Change C	order in the amount of \$ -29,007.80			
The new (Contract Sur	m) including this	Change Order will be \$ 713,297.20			
The Contract Time will be ☐ increased or ☐	decreased or	☑ unchanged by 0 Days			
The Contract End Date as of this Change Order therefore is	□ changed or	☑ unchanged to 04/27/2024			
Aut	thorized:				
Fort Rend (County Judge				

Honorable KP George 301 Jackson St., Richmond, Texas 77469

DATE:

March 12, 2025



CHANGE ORDER FORM FORT BEND COUNTY ENGINEERING

Project Code	20321x	Report Run Date	02/26/2025
Project Name	Aliana Pavement Rehab (20321x)	Change Order Date	01/07/2025
Contract Number	CN-1	Original Contract Amount	742,305.00
Contractor	DVL Enterprises, LLC	Current Contract Amount	742,305.00
Change Order Number	1	Net Change This Order	-29,007.80
Short Description	Balance all Bid Item Quantities to Installed Quantities & Add Pavement Markings	Contract Amount After Change	713,297.20

Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$		
No Container	No Container							
lo Container	30	Pv'mt Markings (Type 1 - Thermo) 8" White Solid Left Turn	LF	2520.0000	2.50	6,300.00		
	31	Reflective Pv'mt Markings (Ty II C-R)	EA	1004.0000	8.00	8,032.00		
	32	Pv'mt Markings (Type 1 - Thermo) White Word "Only"	EA	21.0000	170.00	3,570.0		
	33	Pv'mt Markings (Type 1 - Thermo) White Arrow	EA	21.0000	180.00	3,780.0		
	26	Pv'mt Markings (Type 1 - Thermo) 4" White Dashed	LF	7500.0000	1.05	7,875.0		
	27	Pv'mt Markings (Type 1 - Thermo) 24" White Solid Stop Bar	LF	648.0000	9.50	6,156.00		
	28	Pv'mt Markings (Type 1 Thermo) 24" White Solid Crosswalk (Continental)	LF	1440.0000	9.50	13,680.00		
	29	Pv'mt Markings (Type 1 - Thermo) 12" White Solid Crosswalk (Standard)	LF	1662.0000	4.60	7,645.20		
	Container Total							
Construction	Construc	tion						
	10	Concrete Washout	LS	-3.0000	500.00	-1,500.0		
	11	Inlet top repair	EA	-7.0000	2,000.00	-14,000.00		
	12	Aluminum signs (ground mounted) furnish and install	EA	-7.0000	400.00	-2,800.0		
	13	Yellow Buttons	EA	-280.0000	10.00	-2,800.0		
	14	White Buttons	LF	-280.0000	10.00	-2,800.0		
	15	4" Raised Pvmt marker (Blue buttons)	EA	-16.0000	10.00	-160.0		
	16	Remove and replace 24 inch stop bart (thermoplastic paint)	LF	-390.0000	20.00	-7,800.00		
	17	Reflectorized pavement markings type I (thermoplastic) 4" White/dashed	LF	-1400.0000	2.00	-2,800.00		
	18	4.5" reinforced concrete sidewalk	SY	-113.6000	100.00	-11,360.00		
	19	Diamond grinding of pavement, surface not to exceed 0.25 inches, per TxDot standards and as directed by engineer	LF	-895.0000	5.00	-4,475.00		
	2	8" Concrete pavement removal, disposal and replacement	SY	162.6000	200.00	32,520.00		
	20	pressure injection epoxy sealing, per TxDot standards and as directed by engineer	LF	702.0000	20.00	14,040.00		
	21	ADA Ramp- Type 7, as directed by engineer	EA	-13.0000	2,000.00	-26,000.00		
	22	High density polyurethane concrete lifting, as directed ny engineer	LBS	-3845.0000	10.00	-38,450.00		



CHANGE ORDER FORM FORT BEND COUNTY ENGINEERING

Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$
Construction	Construction					
	23	Concrete crack sealing, per TxDot standards and as directed by engineer	LF	3154.0000	5.00	15,770.00
	24	Place and compact 8" cement stabalized sand for subgrade (minimum 2 packs per CY)	CY	-453.8200	50.00	-22,691.00
	25	Over excavation of unsuitable subgrade (to be used only at the direction of the geotechnical engineer)	CY	-465.0000	20.00	-9,300.00
	3	9" Concrete pavement removal, disposal and replacement	SY	-364.0000	180.00	-65,520.00
	4	7" Concrete pavement removal, disposal and replacement	SY	321.9800	150.00	48,297.00
	5	6" Concrete pavement removal, disposal and replacement	SY	291.8800	140.00	40,863.20
	6	Remove and replace 6" Curb	LF	-220.2500	20.00	-4,405.00
	7	Place and compact 8" cement stabalized sand for subgrade (minimum 2 packs per CY)	CY	-165.8900	60.00	-9,953.40
	8	Over excavation of unsuitable subgrade (to be used only at the direction of the geotechnical engineer)	CY	-313.0900	20.00	-6,261.80
	9	Bermuda strip sod (16" wide)	LF	-892.0000	5.00	-4,460.00
	Container Total					-86,046.00
	Grand Total					-29,007.80

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

1 of 1

	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.	CE	OFFICE USE ONLY CERTIFICATION OF FILING				
1	Name of business entity filing form, and the city, state and count of business.		Certificate Number: 2025-1274075				
	DVL Enterprises, LLC		202	3-12/40/3			
	Kingwood, TX United States		Date	e Filed:			
2		e contract for which the form is	02/2	02/25/2025			
	being filed. Fort Bend County		Date	Date Acknowledged:			
	Fort Bend County		03/11/2025				
3	Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provided		ntify the o	contract, and prov	vide a		
	20321x Change Order						
	Aliana Pavement Rehabilitation PO #226916						
		<u> </u>		Nature of	interest		
4	Name of Interested Party	City, State, Country (place of b	(check ap				
	-			Controlling	Intermediary		
5	Check only if there is NO Interested Party.						
6	UNSWORN DECLARATION						
	My name is	, and my date of birth is					
	My address is						
	(street)	(city)	(state)	(zip code)	(country)		
	I declare under penalty of perjury that the foregoing is true and correct	ct.					
	Executed inCounty	y, State of, on	the	_day of	, 20		
				(month)	(year)		
		Signature of authorized agent of	f contractir	ng business entity			
		(Declarant)		5			